6.2 AP Practice Problems (p.411-412)

1. Forthe function f(x) =2 - 3x,0 < x <4, the
interval [0, 4] is partitioned intofour
subintervals [0, 11,11, 21,12, 3}, 13, 4}. The Right
Riemann sum equals
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] 8. The integral ff’z(x3 — 4)dx is approximated by partitioning the
closed interval [—2, 4] into three subintervals of equal width and
using a Right Riemaon sum. Which of the following is true?

(A) The Right Riemann sum = 24
it underestimates f:z("'3 - 4)dx.
(B) The Right Riemann sum = 60;
it overestimates ffz(x?‘ ~ 4)dx.
The Right Riemann sum = 120;
it overestimates [ fz(x:” —~ 4)dx.

(D) The Right Riemann sum = 120; there is not enough
information to determine whether it overestimates or

underestimates [*,(x* — 4)dx.
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10. The graph of f(x)= V6x = 2 is shown below.
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(@ (c) Evaluate the integral.
(d) Confirm the answer (0 (c) using geometry.
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11. Express j;f £~ dx as the limit of Riemann sums.
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